Name:

My Math Homework — 15

Date:

Add parenthesis to the
expression below and solve.

25-6x2

Solve the expression.
Use Order of Operations

(24+2)+2

Solve the expression.
Use Order of Operations

[2+(9x3)]x3

Write two expressions
where the solution is 41.

Model the following fraction.

Model the following fraction.

What is the decimal

What is the decimal

: 1/4 : 2/3 equivalent of 2/57 equivalent of 1/8?
Write in >, <, =. Write in >, <, =. Simplify the fraction. Simplify the fraction.
4 6 7 2 10 8
5 8 9 3 24 40
Change the improper Change the improper
fraction to a mixed number. | fraction to a mixed number.
3.66 36.66 1.1 11.100 ﬁ 7
7 6
Find the sum. Find the difference. Find the difference. Find the difference.
247, 2 _4. 1 3. s3 41 .
8 8 10 10 5 5 8 8
7 7 9 10 10 12 12

Mrs. Rivera ate 3/8 of a
pizza and Ms. Carter ate 4/8
of a pizza. How much pizza
did they eat altogether?

Mrs. Rivera ran 5 1/4 miles
and Ms. Carter ran 4 3/4
miles. How many miles did
they run in all?

Antonio ate 9/10 of a pizza
on Monday. On Tuesday,
he ate 3/10 of a pizza. How
much pizza did Antonio eat
on Monday and Tuesday?

Jose and Frank made 3 1/5
pounds of pasta. They ate
1 2/5 pounds for dinner.
How much was left over?




